$ | Percent of a Number: Tax, Discount, Tip

Name:

|ﬂJ Caleb is buying a super old video game that costs $5.73. But because
itis so old it is on sale for 20%. How much will he pay for the video
game?

$5.16 $4.01

$5.73 $4.58

Show your work

%]

Aiden wants to buy a nail file. The original price is $5.21.
How much will Aiden pay if he buys it during the sale?

$3.91 $4.43

$3.39 $2.87

Show your work

@

During a seat sale Matthew receives a 45% discount off his
$8.49 ticket. How much did he pay for his ticket?

Show your work
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Name:

#4

At the grocery store sometimes if you buy two of something you get the second
item at a discount. If the regular price of a bag of dog food is $9.50, what will
the price of the second bag be if the discount is 35%?

$

Show your work

|45

The sales tax rate is 40%. How much will it cost

to buy a $8.88 panther figurine?

$13.68

$12.43

$0.62

$13.05

Show your work

#6
|—J Alexander is buying shirts at a store with the deal below. If he buys
two shirts that are $8.90 each, how much will he pay for the second
one?

$6.23

$7.12

$8.01

$8.90

Show your work
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$ | Percent of a Number: Tax, Discount, Tip

Name:

|ﬂJ At the grocery store sometimes if you buy two of something you get the second
item at a discount. If the regular price of a bag of dog food is $8.72, what will
the price of the second bag be if the discount is 45%?

$5.67 $3.92

$6.54 $4.80

Show your work

Show your work

|£J

The sales tax rate is 5%. How much will it cost
to buy a $9.05 panther figurine?

Show your work

[®)TeachMe CC.7.63

TeachMe, Inc. ©2025 All rights reserved.

Page 3 of 4



$ | Percent of a Number: Tax, Discount, Tip

Name:

#10

The sales tax rate is 40%. If Ethan wants to purchase a wagon that
costs $8.87, how much does he actually need with sales tax?

A
1
1
1
1
1
1

4

$

Show your work

#11

On Boxing Day Jack finds the coupon below. If he buys a TV
that costs $9.68, but uses his coupon, how much will he pay?

$

Show your work

#12

The sales tax rate is 20%. How much will it cost
to purchase a new cellphone that costs $6.31?

$7.95 $8.33

$0.38 $7.57

Show your work
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$ | Percent of a Number: Tax, Discount, Tip Answer Key

Question Answer
#1 choice 4
#2 choice 3
#3 4.67
#4 6.18
#5 choice 3
#6 choice 3
#7 choice 4
#8 choice 1
#9 9.50
#10 12.42
#11 1.74
#12 choice 4
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